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WHAT ARE YOU
DOING ?

Ravi! What are you doing here?

I am cutting the mangoes. What
is that bag? What is in it?

There is nothing in it. It is empty.
Give me a fruit.

Take it. Are you going out?

No. Look there! That fruit is
good. Cut that one. Why are
you cutting with a blade? There
is a knife!
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That knife not shorp.

What is your brother doing in-
side?

He is writing a letter to Hari.
Tap the door. He is waiting
for you. He does not have
Hari’s address.

Gopi! Come in. Please write
Hari’s address on the letter.

Hari’s address is in the diary.
Search for it.

It is no where here in this (diary).

Search for it once again. Where
are you looking into? That is
an old diary.

Some one is knocking door out
side. Open the door Balu!

I am opening the door. Thre is
no one out side. The doors
are rattling because of the
wind.

Okay! Push that chair to that door.

I'am pushing it. There are some
papers in this.
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Keep this book on them.

I am keeping it there.

Gopi! We have to take these
book-bundles to the Railway
station. Aren’t we? Start.

The books are many.

Yes. Giri and Sarma are also
coming with us. You take this
bundle. Giri, you take this.
Give this to Sarma.

Balu! Why are you limping?

My leg is paining. Don’t go fast

(before me).

Then hold my hand.

You have books in your hand!

Doesn’t matter. 1 don’t have
the books in both the hands.

Why are tears there in your left

eye? Your eyes also look red.
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Are both the eyes red?

The left eye is very red and the
right one is also red but a little.

There is something in my left eye.
That’s why it is paining.

The wind is blowing fast. The
dust is getting into the eyes.

Put on the spectacales.

Be careful! You have a hole in
your pocket and the coins are
dropping down.

What is this? There are so many
thorns in this way. See how

big is this thorn.

Yes! Walk carefully. It is also
very hot. My feet are burning.

Are Giri and Sarma also coming?

Yes! They are coming behind

us. They have more books.

Yes. We don’t have so many
books.
heavier (than their bag).

Our bag is less
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DRILLS
a. Build-up drill.
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b. Substitution drill

Model (i)
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c. Interlocked substitution drill

Model
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d. Response drill

Model (i) Model (ii)
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Model (v) 7008 69 e,

éo‘zg éas@s {of&@aéa b%fg)éa; @é&é o}9) @U”lcéa.
1. R0& ATFroTHTHT)EH. 3. BL O &6
2. S0 DO &b 4. D& GG DS GO

d. Transformation drill

Model (i) Model (ii)
DES0EI) FOR0 JETHOd. T TO0 QW) Hod.
DESEL) e W) BT)00. T 5 YT wI)o.
1. &z §0B0 ) THob. 1. & Dong SrHod.
2. $© §oR0 JVTYHoR. 2. Q85 JmYHod.

3.

D Dowg FoRo ETYHOR. 3. BHS S0B.

Model (iii)

& PYS A5006?

N

. e %J@@SS 9 KE05rS0 &obd.

oS S00H? 3. §& T @ 2JPE 0b?
1. & 200 SoSs00b. 4. T 50D J ®oKHSS God?
EXERCISES
a. Fill up the blanks with the present tense forms of the verbs given

in the parentheses.

1.

2.
3.
b

SN (Z0éw) 4. e300F ..... (%0ew)
TP e (TO0) 5. 8D 808 ... (D)
2050 806 ... (D)

. Answer the following questions using the cue words.

1. 35) 00ey IHENG? (S3e0nss)

2. Do QA% IHBNG? (O R S0cd)
3. S owen IHANG? (6D w88 HE HHI)
4. o) Qi DEER? (J &)

5. 000 d§0k? (T Dowg)
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c¢. Answer the following questions using the adverbs suggested in the
parentheses.

1. doc A& Jod? (HBorr) 3. MO A& Hod? (Som)
2. HotrdS Jod DT Job? (ID0S0m) 4. TH T Jod? (&)

d. Rewrite the following sentences changing the verb into present
tense with the nouns given in the parentheses as subjects.

€3 S30C DD o)é)&! (R30) 5. PJ%o Il (es03)

O & b DeY BT, 6. BEE ¢y (Dgen)
1. 55 Sl (Do) 7. D é@;ﬁo@ Fangl  (Doeo)
2. & DI Doy (Eéaéé)g) . 828 &S0 Taw.  (QS3ED)
3. & Dot Fowy) (200) . "ééééo SO Q! (2030)
4. oo dawgl (&)

8
9

e. Rewrite the following sentences changing the underlined nouns into
opposite number.

1. a8 SneoNhd. 4. & )TO TH VYT JTHAW.
2. S A% WArHS Yo, 5. & &) DASrS 6.
3. 82 £0) JETING. 6. @8 DD PR HT)OD.

f. Answer the following questions in negation.

1. 2070 (hotardHS AHmm@? 3. & 208 SIS ST?

2. D6 YRYEO W AIANG? 4. D GG waSoTmo0?

g. Conjugate the following verbs for present tense with J30, 0o,
30598, e8RS, 28 and 2O as subject.

Eb@éoq} T°C @oaag §en

8]

h. Frame at least 35 sentences from the following table using the
present tense forms of the verbs given in the third column.
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Q%)
SN & o
8D SO 2050
€30 2¢38 T
SHO8 N aSIN)
i. Match the following.
A B
1. 6 DY AXpSod. | )
2. % oo ST, )
3. 3% 08 287D, ( )
4. 3038 HHH S, ( )
5. 29 &350 oJFod. )
VOCABULARY
00 fruit oY to push (v.t)
@oc¢  in that S a bundle (n)
2@ empty 0w to limp (V)
2 outside QO a hand (n)
2360 blade 8- oblique base of axsg
1) knife D& hands (pl.form of ©ag)
PSIASINY) sharpness RN left (adj.)
oo inside go& oblique base of £:50)
e to beat; to hit; to knock §8) plural form of £30)
0BT ¢ await; look for &) eye
200" in this & right-hand side (adj.)
-8 time (as in first time two s0 in the eye (locative
times etc.) form of $3v))
oS in what Jddsom  severely; abundantly
SPeso noise; sound (n) —c;Sf a variant of locative case
suffix -&'
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éaaﬁaa% dust (n) 0 thorn

é@;@ﬁ &  spectacles S|Som severely

%Jéq&g? to put on; to wear 50 to burn (v.i)

29 a hole NS behind; back side
8 path, way N SO many

ad), these many 2080 weight

0% plural form of soen BENSS less (n. & adj.)

GRAMMAR NOTES

22.1. Qg /o yyi/yi ending verbal bases change their final o2 /02
yyi/yi t0® s and lengthen the penultimate vowel, if it is short, when followed
by a suffix beginning with & z.
Fong + HT)-H = S-S = s ‘T am cutting.”
koyyi + tunna-nu = kos-tunnanu
TO0 + Ho) - = TR~ = o ‘He is writing.’
1ayi + tunna-du = ras-tunnadu
2222, S ciidu ‘see’ becomes w3 ciis when followed by a suffix
beginning with & .
ST + $0-0 = Sro-806 = Srdod ‘She/lt is seeing.’
cidu + toM-di = cis-toMdi
22.3. ¢ u ending bases change their final & v to & d when
followed by a suffix beginning with & .
§¢ + S~ = F&-do o = §r)e  ‘He is beating.’
e} -0
ko u + tunna-du = kod-tunnadu
224. The locative words &' /opala 'inside' and &3¢ bai a'outside'

are introduced in this lesson. Their oblique bases are SO~ [opali- and
2&- bai i-respectively.
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Lesson 22
22.5. The plural form of S0 paMdu 'fruit' is Xb%@ pallu.

22.6. The instrumental case suffix —& zois also introduced in this lesson.
Recall that the same suffix is also used in sociative case (20.4.).

588 Sowgl  kattito koyyi! ‘Cut with the knife’

2217. Notice the causal relationship manifested by the dative case suffix
-& /8 kuwkiin sentences like:

mO8 SO0 WOPd WyTow.  “The doors are making noise
galiki talupulu cappudu céstunnayi. (rattling) because of the wind’

22.8. The benefactive (13.2.1) function of the dative case suffix is found

in sentences like.

TS S8 w&Bo TRRE. ‘Prasad is writing a letter to Ravi’

prasad raviki uttaraM rastunnadu.
Here Ravi is the 'recipient.’

22.9. Notice the possessive function of the dative case suffix in the fol-
lowing sentences like

& £88 Dol BSe. “This knife does not have sharpness.’
I kattiki padunu Iédu. (This knife is not sharp.)

(See 14.12; 14.1.3 and 14.14)

22.10. In the sentences like the following one the dative case suffix is used
with the noun which denotes destination (15.6.2.) or goal.

& OO0 Se0y I8 V. ‘Push that chair to the door.’

a kurcini talupu daggariki ne u.
(See 19.6. for the use of &G0 daggari.)

22.11. The locative forms of @& adi, ®& idi and D& édi are
0SS aMdulo 20 IMdulo oS eMdulo (in addition to S dinilo,
&S dimilo and BIS’ dénilo - ie., oblique base +&° /6 [3.5.] respectively.
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©d adi = @S /TS aMdulo/danilo
Q0 idi = 20%E /EIE’ iMdulo/dinilo
Qb &di = oS /IS eMdulo/denilo

22.12. Oblique bases and plural forms of the nouns ) kannu 'eye' and
Doy cheyyi 'hand' are as follows.

Noun Oblique Base Plural Form
&) kannu ‘eye’ o0& kaMi 8¢ kallu
wowg ceyyi ‘hand’ ™8 ceti Déoew cétulu

22.13. éoej 'in the eye' is the locative form of 83> kannu. (o8&’
kaMiilo cf. o0& iMtlo 'in the house' 13.16.)

22.14. The use of dative case suffix in locative function can be seen in the

following sentences.

QOCH Q) A o8 gy Syow?  “Why are there tears in your left
eMduku ni edama kaM iki nillu vastunnayi? eye?’

D BewdH VO wod. “Ther is a hole in your pocket.’
ni jébuku cilli undi.

22.15. DH8So viparitaMea 'severely; abundantly' &\Sore tivraMga
'severely' and ) /D) noppiga/neppiga are the adverbs derived from
abstract nouns Q0S80 viparitaM severity; abundance, &\So vraM 'severity'

and ) /%) noppi/neppi'pain' respectively.
22.16. Notice the use of the following structure involving the adverbs
given in 22.15 above in the sentences given below.

[abstract noun + adverbialiser ™ ga (16.6) + existential verb]

Qo BPOm God. eMda tivraMga undi. ‘The sun is severe.’
O DNdSom wod.  gali viparitaMga uMdi.  ‘The wind is severe.’
%8 e ST wod. sita kalu noppiga uMdi. ‘Sita's leg is paining’
"0 880 V™ w0h. hari kannu neppiga uMdi. ‘Hari's eye is aching.’
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22.17. The locative case suffix - -/6 becomes —e§f -/I0 when it is
added to a noun which has a cluster of consonants in its final syllable. This

feature is more common in speech than in writing.

V) + & = IS niflu + 10 = niffallo “in the water’
% + & = 39S cela+lo=celallo  ‘inthe trees’

22.18. Q) anni 'those many' and ¥ inni 'these many' are the

quantitative adjectives used with neuter count nouns.

©) @Y anni ballalu  ‘so many (those many) benches’

Q) w0 inni ballalu  “so many (these many) benches’

) anni and B inni are the corresponding demonstrative forms of

interrogative form o)g)l enni 'how many' (4.4.2.).
D) 220w? enni ballalu ‘How many benches’

22.19. Notice the use of the inclusive marker with an interrogative

word alongwith a negative verb in the following sentences. (See 16.4.).

[0S’ o)é&_(:? 8o, iMdulo ekkadi Iédu. Tt is no where in this.’
3¢ 38T S. bai a evari léru. ‘Nobody is there outside’

Also compare the usage 0o reMdi 'both' (8.6.) with the usage
Qo $¢7) reMdi kallid 'both the eyes' which have the inclusive marker.
00 é%e) reMdu kallu ‘two eyes’
008 é@;ﬁy’@ reMdu kallia ‘both the eyes’

Qe STren ¥ madu kalalu ivvu.  ‘Give three pens.’
Qe Sror ¥ madu kalald iv vu.  ‘Give all the three pens’
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